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1-3. REXEKI
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RERERL [REBEFE

TI7E i | oAl Bl # 2 g = fis
REXNET |BFESB A
BEME ZBAANKRA
BLARET A 18 x1Bx A B8
3 - BEME SRAKRA
BEIBRRETL A 1EfRrx1Bx A BE
&t
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2. BEKEEHKL
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2-1. EREC/Kit ZAEET
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2-1-1. ZNEEM L - FT5
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EARELKH

HIRE - $REE ($144) HPPE ¢ 200

A IR H 2
% b1 FeAR~Ti& o | we 0% EE
ERKAF VIFLVE
EFRZEES ¢ 200 x5, 000 A& | 5.00 5.00
BKAR VIFLVE
EF7' VIV BEE ¢ 200 x5, 000 . 2 9.32
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YEPEEE Pk - BAEMA HPPEE L5 0n
(¢ 200)
Y Z9% i BE | YT
(RS - HRE)
1 4. 600 4.600 m [ 0.400 m 18
2 2.000( 2.720 4.720 m | 0.280 m 20
9.320 m| 0.680 m K
a8 &t A ($200x5,000)
mE = 2%
POMEE = &
8 F A ($200x5,000)
. EE = &
FOMEE = &
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EARELKH

HIRE - $REE (#1441 HPPE® 100

\ ZAK~ 7 13

2 W ik ~tik | e 0E ER
BeKAE VIFLUE
EFRZEE ¢ 100 x5, 000 A | 5.00 10.00
BeKAE VIFLvE
EF7 LDV BE ¢ 100 x5, 000 X 2 9.26
BEKAE VIFLVE
EFV7 vk ¢ 100 1&
BEKAE VIFLVE
EFmEXRY F ¢ 100x90° & | 0.50 0.50
BeKARE VIFLVE
EFREXRY K ¢ 100x90° f& | 0.61 1.22
BEKAE VIFLVE
EFmEXRY F ¢ 100 x 45° f& | 0.38 0.38
BEKAE VIFLVE
EFFRZSRU K ¢ 100 x 300H f& | 0.90 1.80
BEKAE VIFLUE
EFfiZF—X ¢ 100x ¢ 100 & | 0.44 0.88
BEK AR YIFLVE
EFo5vo @100 7.5K SUS f& | 0.33 1.32
PE#& O {3 MR X Em (2F)
VI = ILEUH ¢ 100 0.83 1.66
TUHE DP1. 14mf EE& 3 &
250 EEM @150 #
AALEE 24
el &
REY)LYT &
1S AALRIEE &
#H 1S AFLERTEE ]
1S AFLER ]
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YEHEE Pk - SHEA HPPEE L5 On
(¢ 100)
B Z9E i BE | 98T
(B - BHEE)
1.500( 1.440] 1.720 4.660 m | 0.340 m 3 A
2.590| 2.010 4.600 m| 0.400 m 20
9.260 m| 0.740 m o b
a8 &t AR (¢$100x5,000)
EE = 2%
FOMEE = &
8 F AR (¢$100x5,000)
. EE = &
FOMEE = &
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EARELKH

ALK E (#5) HPPE ¢ 150
A I # &

% R ik ~tik o | we 0% ER
BLKRR VIFLVE
EFRZEE ¢ 150 x5, 000 A [ 5.00 3| 15.00
BRI VIFLE
EF7 LDV BE @150 x5, 000 X 4 4] 18.31
BeKAR VIFLVE
EFV7y bk ¢ 150 {& 9
BEKAE VIFLVE
EFmZA K ¢ 150 x 90° & | 0.68 1 0.68
BLKAR VIFLVE
EFEmZA K ¢ 150 x 45° & | 0.48 4 1.92
FeKAR VIFLVE
EFRZRVF ¢ 150 x 45° f& | 0.63 4 2.52
BEKAE VIFLVE
EFAZSRU K ¢ 150 x 600H 1.45 1 1.45
BEKAE VIFLUE
EFfiZF—X @150 % ¢ 150 f& [ 0.92 3 2.176
EoKAR VIFL &
EFo5vo @150 7.5K SUS f& | 0.35 2 0.70
PEHE O mRFTXiamE (2F)
PP et %5 Fis ¢ 150 0.98 3 2.94
ToHE DPO. 9mF EE& & 2
HUIHE DP1. 9mF EE& 3 & 3
EEERT ¢ 150
r2AZANDaA >+ |HPPE-FCD 0.03 2 0.06
IS UTEEH @150 RF7.5K #8 2

_3 7_




Y%k  BdkA HPPEE L=5.0m
(@ 150)
Ry Z9%E : BE | OI
(EKE)
1 1.280( 3.680 4.960 m| 0.040 m 20
2 3.950[ 0.500{ 0.350 4.800 m| 0.200 m 30
3 0.4101 1.620| 1.620 3.650 m| 1.350 m 30
4 4.900 4.900 m| 0.100 m 10
18.310 m| 1.690 m 9 A
& AE (p150x5,000)
HE = 4 &
SOMEE = &
& &t AR ($150x%5, 000)
HE = &
SOHESE = &
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EARELKH

EIKE (#FFD HPPE ¢ 150
oot & B

% b Fek~t ik | s 0E ER
BoKAR IFLVE
EFRZEE ¢ 150 x 5, 000 A& | 5.00 10. 00
LKA IFLVE
EF7° L-vivk BEE ¢ 150 x 5, 000 ZS 28. 61
KA VIFLVE
EFV4oy b+ ¢ 150 &
K AR VIFLVE
EFSZAY K ¢ 150 x 90° & | 0.68 1.36
BoKAR IFLVE
EFSZAY K ¢ 150 x 45° & | 0.48 2. 40
EK AR VIFLVE
EFfZAY K @150 11 1/4° & | 0.34 0.68
K AR VIFLVE
EFESZARY R ¢ 150 x 45° & | 0.63 2.52
BoKAR IFLVE
EFESZSRU R ¢ 150 x 450H & | 1.24 1.24
BLKAR IFLVE
EFESZSRU R ¢ 150 x 600H & | 1.32 1.32
K AR VIFLVE
EFfZF—X @150 % ¢ 150 0.92 3.68
BoKAR IFLVE
EFLTa—% ¢ 150 x ¢ 100 & | 0.49 0.98
LKA IFLVE
EFo5 P ¢ 150 7.5K SUS & | 0.35 0.70
PEf&EO
VI b= ETH ¢ 150 F | 0.98 4.90
ANZALY T Fo—LiEgH @150 |02 0.20
TUHE DPO. ImA EEH &
TUHE DP1.3mA EE&H &
RIETHT ¢ 100
AHhZALDaAT HPPE-FCD 1& | 0.02 0.04
TS VDEEM @150 RF7.5K #H




gsmE kA HPPES L=5.On
(@ 150)
A% ZY% B BE | OT
(LK)
1 1.660( 2.510 4.170 m| 0.830 m 20
2 3.610[ 0.940 4.550 m| 0.450 m 20
3 1.500( 1.960( 0.990 4.450 m| 0.550 m 30
4 2.460| 2.270 4.730 m| 0.270 m 20
5 3.830 3.830 m| 1.170 m 10
6 2.2701 0.300] 1.390 3.960 m| 1.040 m 30
Ji 2.920 2.920 m| 2.080 m 10
28.610 m| 6.390 m 14 A8
& AE (p150x5,000)
BE = ES
SONEE = &
& &t AR ($150x%5, 000)
EE = &
SONEE = &

_40_




BoREKth

HRE - HEEE () HPPE ¢ 100
£ W Bkt ik z g W =
ETEN
RYUIFLUEREMNT ¢ 100 m 25. 4|'EEREE2T. 0251, 66m
RYUIFLUEMFET ¢ 100 FEES 20/#fH ElZis 18
RYUIFLUEMFET ¢ 100 FEHES 10/#fH O 4
RYUIFLUEYMT ¢ 100 m] 5
TSUCHET 100 7.5K O 4
HUIHFHRET ¢ 100 HPPE = 2
HEHZRET FE& 4t DP=1. 14mME ElZis 2
EHRT—TL @100  W=30mm m 27
EHRY— T W=400mm % JJL m 25. 4
WAKHEBRT ¢ 100 m 27
A1 AAKRET AT 2
100mm~200mm
avy)—hEIALT ¢ 200 m 1.5(28 % 0. 75m
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B oRE2Kth

HRE - HHEE (5% HPPE ¢ 200
& W otk ik %;L e I
g
RYIFLUBHEMNT 200 m 14. 3[EXER14. 32m
RYIFLUEHFET 9200 REFEES 10/8&F~ O 2
RYUIFLUEYNRT ¢ 200 a 3
BEHRT—TT ®200 W=30mm m 14.3
BHRY— LT W=400mm & JJL m 14.3
100mm~200mm
avy)—FHrEIFLT ¢ 300 m 3.0/140 x0. 75m
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BoREKth

BoKE (57) HPPE ¢ 150
£ Ttk <tk 5| = B =
BHR

RUIFLUEREMAT ¢ 150 m 43. A|EEER46. 34m-HEIF2. 94m
RUIFLUE#MFT ¢ 150 FEES 20/&m £l 33
RUIFLUE#MFT ¢ 150 FEES 10/&m i 8
RUIFLUEYIRT ¢ 150 [ 9

ISUCHET $ 150 7.5K m| 2

HOAHRET ¢ 150 HPPE B 5

FEZBET EE& £ DP=0. 90mm AT 2

FEZBET EE& £ DP=1.90mm AT 3

EHRT—JT 150  W=30mm m 46.3

EHRY— T W=400mm % J)L m 43.4

BB T ® 150 m 46.3
RY)IFLUBRET ¢ 150 m 6.2
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BoREKth

EKE (FHHE) HPPE ¢ 150
£ Ttk <tk 5| = B =
BHR

RUIFLUERMGT 150 m 53. 5| s=3E £58. 63n- (1574, 90m+0. 20m)
RUIFLUERFT ¢ 150 FEES 20/&m £l 46
RUIFLUE#MFT ¢ 150 FEES 10/&m i 8
RYTFLUBYT ® 150 [ 14

IS UCHET ¢ 150 7.5K mi 2

AAZHILBET ¢ 100 mi 6

TOAFHRET ¢ 150 HPPE B 6

REFET FEE& £ DP=0.90mMA £l 3

REFET FEE& £ DP=1.30mMA £l 3

EHRT—JI 150  W=30mm m 58.6

EHRY— T W=400mm % J)L m 53.5

BEKHERT $ 150 m 58.6
RY)IFLUBRET ® 150 m 3.5
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2-1-2. ZAERELT
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FokithficE X THERESR

% W O & THY H47 SHEMEE EEHNEM I#E # 8 £ KRMm  5m)
(ZRNE IR ER) EEETOEAIEE
0.33 058 077 067 235
EhEH ¢ 100 DP=1.14m 1
BMIEE]  $100 DP=141m 2 18.27 18.27
. 46.61 2.08 36.69 2.08 87.46
EhEH ¢ 150 DP=0.90m 3
T 0.60 BH0.2
) 6.00 6.00
EhEH ¢ 200 DP=1.44m 4
BWIEEl  $200 DP=180m 5 212 272
6.00 6.00
BEhEH ®200 DP=2.44m 6
(AsEiZEE R ED)
499 539 10.38
B Y R ¢ 150 DP=0.90m 7 AsiZE 060 BHO.2
9.60 9.60
BRI ¢ 200 DP=0.90m 8 AstEZE 060 BHO0.2
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$200-¢150-¢100mm T I # B R

SO EREIBIERECEIYADELD

70 . iva %I ==} A =
% FR Al ﬁ%$u® 2 6 @ & ® O ® & g
ST T As tzmmFT 20.8 19.2 40
m
AT Co t =15cmAF
m
SRR IRY |t =15cmllTF 6.2 5.7 1
EH - $EA B HO0. 28 m
SHEMRBERIRY [t =10cmL T
EH - $EA B HO0. 28 m
SHEMRBERIRY [t =10cmL T
EH - $EA B HO0. 08 m
YEEI T B HO. 28 1.917.9 61.9 6.1 3.3 9.7 7.0 6.9 114
ho-78Eh" At SR E m3
EEIT B HO. 08
ho-78Eh" At SR B m3
HWERT (W) |BHO.28 0.7 55282 1.9 08 1.9 3.3 3.5 45
ho-78Eh" ARt SR E m3
BWERT (L) [BHO0.08
ho-58Eh" ARt ERE m3

MWIERT (BfA) |[RC—BHO0.28 0.8 9.4 18.3 3.2 20 6.8 1.8 1.7 44
yo-58Eh" AR E R m3

BRI (B%A) |[RC—BHO0.08
ho-58Eh" ARt R m3

HmERT (£1/BHO0.28
ho-58Eh" ARt R m3

HWMERT (£1/BHO0.08
ho-58Eh" ARt R m3

LERET RC—40 1.4 10.9 52.4) 3.6 1.6 3.6/ 6.2 5.7 85
t =25cm m
tERET M—30
t =17cm m
FRI7IL MEEERT (BEEH 6.2 5.7 11
t =bhcm m
avyy—rEEEET |t =10cm
m
BEMn T A s 77 BHO. 28
0Vt 527 m3
BEMULS T GE#I|A s 7 BHO. 08 0.3 0.3 1
Ay BT m3
BEMin T C o /7 BHO. 28
10t 5T m3
K145 T GEHT)(BHO. 28 1.917.9 61.9 6.1 3.3 9.7/ 7.0 6.9 114
Ay BT m3
KRtnT BHO. 08
Ay BT m3
AKEHRT 0.03 0.02 0.05
m3
AKLHT 0.03 0.02 0.05
m3
BE2MEREIATL |h=1.50~3.00m 2.7 6.0 8
m
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BIER L=

235, m

* 8 =
T I H=EFEE = KHE PE 100 |
THY=1.14 m
@) EEl  EE
_ 600
< . >
|
I
g RC-40 250
i y
| X A
i
|
| RC-40 590 1140
1365 : 1365
i 1115
! A4
i Y
|
| BB 300
! A4 A
i 125 % )
il I $100 100 3 ‘ ‘
i
4 Fh S B =1 =X HiE B= ® =
m3L) =LY
MR T 0.60 x 1.37 x 1.00 m3]| 0.819 1.9
WWAERT (0.60 x 053 —mw. 4x0.13 *
x 1.00 m3]| 0.303 0.7
ZAREEREI (RC-40) 0.60 x 0.59 x 1.00 m3]| 0.354 0.8
B o T t = 25cm 0.60 x 1.00 m2]| 0.600 1.4
0.60 x 1.00 x 0.00 m3| 0.000 0.0
HIEHRT MBI T E m3| 0.819 1.9
RtusT HEWAREI T8 E m3| 0.819 1.9
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BIER L=

18.2] m

* 8 =
T I H=EFEE =i KHE PE 100 |
THY=1.41 m
@) EEl  EE
_ 600
) |
|
I
g RC-40 250
i y
| X A
i
|
| RC-40 860 1410
1635 : 1635
i 1385
! A4
i Y
!
| BB 300
! A4 A4
i 125 % )
il I $100 100 3 ‘ ‘
i
4 Fh S B =1 =X HiE B= ® =
m3L) =LY
MR T 0.60 x 1.64 x 1.00 m3]| 0. 981 17.9
WWAERT (0.60 x 053 —mw. 4x0.13 *
x 1.00 m3]| 0.303 5.5
ZAREEREI (RC-40) 0.60 x 0.8 x 1.00 m3]| 0.516 9.4
iz S - t = 25cm 0.60 x 1.00 m2]| 0.600 10.9
0.60 x 1.00 x 0.00 m3| 0.000 0.0
HIEHRT MBI T E m3| 0.981 17.9
RBRitasnT HiiEEI T # = m3| 0.981 17.9
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BIER L= 87.46 m
* 8 =
T T e REE 8 RSHE PE 150
THY=0.9 m
©) EEl  EE
-~ 600
. . >
|
I
g RC-40 250
i A
I Y Y
i
|
| RC-40 350 900
1180 : 1180
i 930
! A 4
i Y
|
| BB 300
! A 4 A 4
i 180 § )
|l I $150 100 3 ‘ ‘
i
4 I S & =1 = B B= ® =
m3 e %Y
B ER| T 0.60 x 1.18 x 1.00 m3| 0.708 61.9
WWAERT (0.60 x 058 —mx.~4x 018 *
x 1.00 m3| 0.323 28.2
AERI (RC-40) 0.60 x 0.35 x 1.00 m3| 0.210 18.3
iz S - t=25ecm| 0.60 x 1.00 m2| 0.600 52.4
0.60 x 1.00 x 0.00 m3| 0.000 0.0
HLERT HmIEEI T E m3| 0.708 61.9
RituonT HiiEEI T # = m3| 0.708 61.9
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BIEZER L= 6.00 m

* 8 =
T T e REE 8 RSHE PE 200
THY=1.4 m
@ EEl  EE
-~ 600
) |
|
I
g RC-40 250
i A
I Y Y
i
|
| RC-40 890 1440
1720 : 1720
i 1470
! v
i Y
i
| BB 300
! A 4 A 4
i 180 § )
|l I $200 100 3 ‘ ‘
i
4 I S 5 =1 =Y HiE B= ® =
m3l e %N
B ER| T 0.60 x 1.72 x 1.00 m3| 1.032 6.1
WWAERT (0.60 x 058 —mx.~4x0.18 *
x 1.00 m3| 0.323 1.9
AERI (RC-40) 0.60 x 0.89 x 1.00 m3| 0.534 3.2
iz S - t=25ecm| 0.60 x 1.00 m2| 0.600 3.6
0.60 x 1.00 x 0.00 m3| 0.000 0.0
HLERT HmIEEI T E m3| 1.032 6.1
RtusT HWIEE T E m3| 1.032 6.1
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BIER L=

2.72 m

* 8 =
T T e REE 8 RSHE PE 200
T#HY=1.8 m
® EEl  EE
-~ 600
) |
|
I
g RC-40 250
i A
I Y Y
i
|
| RC-40 1250 1800
2080 : 2080
i 1830
! A 4
i Y
|
| BB 300
! ) 4 A
i 180 § )
|l I $200 100 3 ‘ ‘
i
4 I S & =1 W B B= ® =
m3 e %Y
B ER| T 0.60 x 2.08 x 1.00 m3| 1.248 3.3
WWAERT (0.60 x 058 —mx.~4x 018 *
x 1.00 m3| 0.323 0.8
AERI (RC-40) 0.60 x 1.25 x 1.00 m3| 0.750 2.0
iz S - t = 25cm 0.60 x 1.00 m2| 0.600 1.6
0.60 x 1.00 x 0.00 m3| 0.000 0.0
HLERT HmIEEI T E m3| 1.248 3.3
RtusT HWIEE T E m3| 1.248 3.3
BsfXiREAL |h=1.50 m 2.7
~3.00
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BIER L=

6.00 m

* 8 =
T T e REE 8 RSHE PE 200
THY=2.44 m
® EEl  EE
-~ 600
) |
|
I
g RC-40 250
i A
I Y Y
i
|
| RC-40 1890 2440
2720 : 2720
i 2470
! A 4
i Y
|
| BB 300
! ) 4 A
i 180 § )
il I $200 100 3 ‘ i
i
4 I S & =1 W B B= ® =
m3 e %Y
B ER| T 0.60 x 2.72 x 1.00 m3| 1.632 9.7
WWAERT (0.60 x 058 —mx.~4x 018 *
x 1.00 m3| 0.323 1.9
AERI (RC-40) 0.60 x 1.89 x 1.00 m3| 1.134 6.8
iz S - t = 25cm 0.60 x 1.00 m2| 0.600 3.6
0.60 x 1.00 x 0.00 m3| 0.000 0.0
HIEHRT HmIEEI T E m3| 1.632 9.7
RtusT HWIEE T E m3| 1.632 9.7
BsfXiREAL |h=1.50 m 6.0
~3.00
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IER L= 10.38 m
* 8 =
i L zrﬂ 8 n'l' ﬁ % B AsZE PE ¢150
T#HY=0.9 m
@ EEl  EE
. 600 R
t 5073 BE7ZahsE !ﬁi%*ﬁfiAs 50 3 1 1 1
E RC-40 250 | 300
i y A
I Y Y
i
|
| RC-40 300 900
1180 [ 1180
1130 : 880
! v
| z
i
| BB 300
! A 4 A 4
i 180 § )
v v I $150 100 § v v
i
4 I S 5 =1 W H W= q =
m3l e %Y
SRR YT T t = 5em 1.00 x 2 m | 2.000 20.8
AR T t = bem 0.60 x 1.00 m2| 0.600 6.2
0.60 x 1.00 x 0.05 m3| 0.030 0.3
BRI T 0.60 x 1.13 x 1.00 m3| 0.678 7.0
IWAMER T (060 x0.58 —n1.~4x0.18 *
x 1.00 m3| 0.323 3.3
/BRI (RC-40) 0.60 x 0.30 x 1.00 m3| 0.180 1.8
®wofE T t=25cm| 0.60 x 1.00 m2| 0.600 6.2
0.60 x 1.00 x 0.25 m3| 0.150 1.5
= B I t = bem 0.60 x 1.00 m2| 0.600 6.2
0.60 x 1.00 x 0.05 m3| 0.030 0.3
BEAALS T GERHRT) HERERINE m3| 0.030 0.3
RIS T GEfRI) HIEE T = m3| 0.678 7.0
AKEHR T 0.60 x 1.00 x 0.05 x 0.023 m3| 0.001 0.03
KNS T AKERIH= m3| 0.001 0.03
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BIER L= 9.60 m
% = =4 & =
:I: I ﬂ& = l:l-l- ﬁ = BE AsZHE PE ¢200
T#HY=0.9 m
il )
3 600 .
t 5073 EE7TEh%E ;ﬁimﬁms 50 3 * * )
i RC-40 250 | 300
i A\ 4 A\ 4
I Y Y
i
|
i RC-40 300 900
1250 } 1250
1200 i 950
! A\ 4
i A
|
| mamn 300
! A\ 4 A\ 4
D 250 § _'
|l il I $200 100 $ il il
i
4 A S B =1 N B W= H =
m3 L %Y
THERhR I T t = 5em 1.00 x 2 m | 2.000 19.2
AR T t = 5cm 0.60 x 1.00 m2| 0.600 5.7
0.60 x 1.00 x 0.05 m3| 0.030 0.3
BRI T 0.60 x 1.20 x 1.00 m3| 0.720 6.9
IWAMBERT ( 0060 x0.66 —mwr.~4x0.18 °
x 1.00 m3| 0.365 3.5
A IERTI (RC-40) 0.60 x 0.30 x 1.00 m3| 0.180 1.7
B O T t = 25cm 0.60 x 1.00 m2| 0.600 )
0.60 x 1.00 x 0.25 m3| 0.150 1.4
*® B I t = bem 0.60 x 1.00 m2| 0.600 5.7
0.60 x 1.00 x 0.05 m3| 0.030 0.2
BEAM S T GERHRT) HERBERIHE m3| 0.030 0.3
RIWs T GERRI) BWIEE TH= m3| 0.720 6.9
AKEHR T 0.60 x 1.00 x 0.05 x 0.023 m3| 0.001 0.02
A KWL T AKEMRIH= m3| 0.001 0.02
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2-2. KRR
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2-2-1. KGFRBAEEET M - F%
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EMBER OKMRBEHFEEET)

&2 W oA - A By % 2 | & i HUER | G5tER | ® &
KELERRE S FCD&E Mol mEmipAER
N ARy bE2E T 7. 5K ®100 R—ILB v TED & 1 1 BUERE B
ERESF FCD&Y
@100 7. 5K & 1 1
BiEE MI75>2) $S400 +4mva-t
7. 5K ¢ 150 340y sf & 1 1
RISV 8E FCD&!
7. 5K ¢ 150 {& 2 2
TS UTEER SUS304
7. 5K @100 #H 4 4
LYo uk—IL tEEmEaEd
D1800 x W1000 x H1500 & 1 1
%= FOD&L L UiRA® Y VUt
¢ 600 & 1 1
SUS304
KELFAENA Oy FEREE @13 m 30 30
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FHHEMER OKUFABRFEEETL)

£ 7 oAl - R ==X B = & F B &
LoavRy o RiEFT
H 1 1
IK L ER 2
N4 8y rEEMEKRT m 30.0 30.0
BERET
(BESYyF2FTI) o 138 &:EE120mm m 30.0 30.0
ERE BLEWEICETE | X 1 1
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A EEET T

A

L
AYA

2-2-2. JK{
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'/ \ L = L == N
TTHRER OKMRBEAEEET)
& @R - B B 2 £ & 3

BH 0.20 4O-3
EEIFEAT Hen Axt R m>| 19.8 19
ERIER - EOT HEAW m° 6.0 5
BERAERET m° 3.6 3
EMBRAET t=150 m? 6.0 6
L
aVvh ) — hEIBRT m? | 0.60 0.6
L
aVvhy—kT 18-8-25BB m° | 0.30 0.3

(%) BH 0.2
ETNET 4tE 1=10.0km | m® | 19.8 19
ELnnE (1 7) m> | 19.8 19
BEHEREAT  h=2.00~2.50n | m 6. 80 6
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BIZERE L 3.4 m
* =
:t I ?& n-|_ ﬁ
SEX
l = L1
g ¥
 BSENIBWEIIS S
_ TE e
& W o gt o T
RS T x 2.720 x 2.145 = m° 19. 84
R - #HEHT ERA x 2.720 x = 12.901 @
x 1.520 x = 5.776 @ (=)
x 1.720 x = 1.163 (G (=R)
V= D-@-®
12. 901 5.776 — m° 5.96
BERGERT 3.400 x 2.720 x 0.750 = 6.936 @
3.180 x 1.520 x 0.700 = 2 (=B
V= D-@-B)= 6.936 — m° 3.55
BRERT t=150 3.380 x 1.780 = m? 6.02
BL
avyy—rEBRT x 1.780 ) x x 0.050 = 0.602 | m? 0. 60
BL
avhy—rI  |18-8-25BB x 1.780 x m® 0.30
E+MET — 0.00 = m° 19. 84
BIung TR — 0.00 = m° 19. 84
BEMXiREAT [h=2.00
~2.50 x 2.000 = m 6. 80
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2-3-1. RREMAEEET #MH - 755
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EMHBER (RREHAEEET)

2 £ oAl - R & B | #t E | & & |BENMER| SHEER i &
R2ER 1.5K HEMER BT
7.5K| ¢ 150 = - - it
LYaVvHE
7. 5K|w1000 x D 1500 x H 1200 = 1 1
AFLEcE FCD& o>, ot
¢ 600 & 1 1
HiEE FCD& WA\EF A B>a—Fa2Y
7.5K| ¢ 150 44mypst 7. 5K L=200 H 1 1
BEERF 7.5K FcCD#&
1.5K 925 ASEPMAZE H 1 1
wmiER 71.5K R—)xX FcCDH:
7.5K| ¢ 75x100H RIS EIAZEE = 1 1
B350 88 7.5K FCD#&! 870L
7.5K 9 150 M EMAEE & 2 2
WMI7SUCH%EE  |1.5K S S#E 150L
7.5K 150 x ¢ 100 PISAEF4AVI-TIV9 & 2 2
ZOSVUUTFEE 7.5K S S& 150L
7.5K 150 % ¢ 75 HSAEF{AVI-T4V) & 1 1
ELE M H SUSAHRIL bk = Fw k=8 x D
7.5K| ¢ 150 #H 4 4
EEMH SUSARIL b = Fw k=8 x D
7.5K| ¢ 100 #8 2 2
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FHHREFER (RREMFEESET)

£ g oAl - R I:-E v B = & &t B &
Lavikyv R

AT

Lavikyo R

BERE BEEREICEHLE | X
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ITTHRER (RRERFAEEET)

g4

il

% W MOR - 3RO B & i

BH 0.20 4O-3

EEIFEAT Hen Axt R m° | 244 24

BR - #EHT 1BRAD m° 8.9 8

BERAERET m° 5.1 5

EMBRAET t=150 m? 6.0 6

L

aVvh ) — hEIBRT m? | 0.60 0.6

L

avsyy—kIT 18-8-25BB m° | 0.30 0.3
(%) BH 0.2

ETNET A4tE 1=10.0km | m° | 24.4 24

ELnnE (1 7) m° | 244 24

BEHEREAT  h=2.00~2.50n | m 8.36 8
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fE TR

L=

4.18

m
* =2 =
T I # 2 it E &
SEHX
4180 2720
_8 A:_L #EE 8
TR %—mrj = TS !—_'l_l = Wm] =
8|8 g C| e 8|2
S|e e 2
- BRRAANN) INARANA o I~ - [e0ee ) IS
3180 1520
400 3380 400 500 1720 500
% B | B &% S =t wi S|
¥miEE T 4.180 x 2.720 x 2.145 = 24 388 m° 24. 39
BR - fHEOHT BRAN 4.180 x 2.720 x 1.395 = 15.861 (D
3.180 x 1.520 x 1.195 = 5.776 @ (=)
3.380 x 1.720 x 0.2 = 1.163 G (=R
V= D-@-Q
=15.861 — 5776 — 1.163 = 8.922 m® 8.92
BAERGERT 4.180 x 2.720 x 0.750 = 8.527 @
3.180 x 1.520 x 0.700 = 3.384 @ (=)
V=D-2-3)= 8.527 — 3.384 = 5 143 m® 5.14
BARERT t=150 3.380 x 1.780 = 6.016 m? 6.02
BL
avhY—rERT (3380 x 1.780 ) x 2 x 0.050= 0.602 |m2 0. 60
BL
avhy—rT  |18-8-25BB| 3.380 x 1.780 x 0.05 = 0.301 m® 0.30
L (%) BH 0. 24.39 — 0.00 = 24.390 m® 24.39
4tE L=10. Okm
Brng T 24.39 — 0.00 = 24.390 m® 24.39
BEMXiREAT [h=2.00
~2.50 4.180 x 2.000 = 8.360 m 8.36
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2-4. BEKEMERL ¢ 150

_70_



2-4-1. BEIKEMER T @ 150%1 %4 - 775
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EARMX

EKE (MHED HPPE ¢ 150
et s B 5 =
£ L1 RAR~Ti& | me 0E EE
EKAK VIFLVE
EFRZEE 150 x 5,000 A | 5.00 5.00
EKAK VIFLVE
EF7° L-vIvh BE ® 150 %5, 000 1 4.96
BK AR VIFLVE
EFfZARY K @ 150 x 45° & | 0.46 1.84
EKAK VIFLVE
EFFZRU K @ 150 x 45° & | 0.62 1.24
EKAK VIFLVE
EFESSRY K ¢ 150 x 300H @] 1.04 1.04
BK AR VIFLVE
EFosve »150 7.5K SUS & | 0.22 0.22
AARY
APERAN: 3 »150% ¢ 100 1&
AhAZAILoaA b
FrvJ » 150 1&
B K 53 s &R
TUHE DP1.2mA FE& i &
£tn#+4+ DIPH
TEKEITFE ® 150 x ¢ 150 A
7~ 7 7K 5o sk ®150 % ¢ 150 0. 36 0. 36
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PERER  FKA HPPEE L=5.0m
(¢ 150)
BYE ZU%E & RE 7))
(BRKE)
1 0.970( 0.500( 2.220| 0.770[ 0.500( 4.960 m | 0.040 m 50
4.960 m | 0.040 m 50
8 F AR (¢p150x5,000)
EE = 1 X
ZOMEE = A
& & |[A% (¢150x5,000)
EE = ¥
ZOMEE = X
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BEARMX

fKE (FH) HPPE ¢ 150
% W otk 5% f\‘; e W=
BEHA
RYUIFLUEIEMST @ 150 m | 14. 7|&EEERK14. 66m—{LE1F:0. 00m
RYIFLUEMRFET b 150 REES 10/#Fr7 | O 13
RYIFLUEYET ¢ 150 m| 5
fUIFLVE
(FHZAVR ) $RF T ¢ 150 | 2
fUIFLVE
CHzAVR ) $RF T ¢ 100 m| 2
TS UTHET ¢ 150 7. 5K m| 1
Ar-74v4" 74%-T (M T ) m | 14.7
EHRT—TT @150 W=30mm m | 14.7
EHARY— LI W=400mm 4 JJL m | 14.7
T~ W 7K 490 lBk &
FEZREL EEL& 4 DP=1. 20mMAH Bl 1
DIP x HPPE
THIKERT ¢ 150 % ¢ 150 &30 1
WKEER T ¢ 150 m | 14 7| ifrEEE(IZE L
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2-4-2. EE/KEMEK L 150 £
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EREKAR
54 7| METX 5| FERI | k| OF| £% Y| 10-2 10-2 R &
) AR RiB| AS |150]1.20 3.31] 11.23 14.54
TR RiB| AS |150]1.20
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®150mm T+ T # B XK

SEOLBREHERECLYADILD

& G R LA 2 g & 3
SHEEYIETT As t =20cmL T 29. 1 29
m
LY T Co t =15cmLlF
m
BRI RO t =15cmL T
1EH - 152 B HO. 28 m
BRI RO t =10cmL T 8.7 8
1EH - 1A B HO. 28 m
BRI RO t =10cmL T
1EH - 1A B HO0. 08 m
{EHEI T B HO.28 9.8 9
ho-58En" At SR BY m3
EHIT B HO0.08
ho-58En" At SR EY m3
HWIERT (L&) B HO. 28 4.6 4

ho-FHEh AR A m3

HWMIERT (L&) B HO.08
ho-38Eh” Axt FE R m3

HEERT (BA) RC—4BHO0.28 2.6 2
ho-38Eh Axt EE R m3

HEERT (BA) RC—4BHO0.08
ho-58Eh" Axt EE R m3

WHIERT (¥4£1) [BHO0.28
hn-FHEh AR A m3

WHIERT (¥4£1) [BHO0.08
hn-FHEh AR A m3

ErERET RC—40 8.7 8
t =25cm m
tERET M—30
t =17cm m
FRAI7I b HEEET |(BAEBN
t =3cm m
FRAI7I b HEEET |(BEBN 8.7 8
t =bcm m
aVy ) — EKEIEI [t =10cm
m
BAHEEIRT t =10cm
m
BEA s T A s 77ZBH0. 28 0.4 0.4
Wt AT m3
BE#MLsT A s 7 =BH0. 08
At 5T m3
BE#MLsT C o 77=BHO. 28
Wt HT m3
KtanT BHO. 28 9.8 9
At 5T m3
KitanT BHO. 08
At 5T m3
AKGERT 0.03 0.03
m3
AKLST 0.03 0.03
m3
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IR [= 454 m
kb ==
T I # = 56t & £ BiE ASHE PE 4150 |
T#HY=0.9 m
@D EEl R
600 ,
|
A 50 A Eiﬁgﬁg : ﬁﬂi@*ﬁgAS 50 :; A A A
i A
} RC-40 250 | 300
i A4 A4
! A A
|
i
! RC-40 300 900
1180 i 1180
1130 ; 880
i A 4
; A
’ 300
; BAER
I A 4 A 4
i 180 4 -
P $150 1008
[
4 h RO B =1 S Bh = ;L =
mZyY 21K
EES ] t = bem 1.000 x 2 m 2. 000 29.1
R t = bem 0.600 x 1.000 m2| 0.600 8.7
0.600 x 1.000 x 0.050 m3| 0.030 0.4
BWiEEI T 0.600 x 1.130 x 1.000 m3| 0.678 9.8
IWAPtE R T (0.600 x0.580 — x4 x0.180 *
x 1.000 m3| 0.323 4.6
ZAEERT (RC-40) 0.600 x 0.300 x 1.000 m3| 0.180 2.6
B OB T t= 2bem| 0.600 x 1.000 m2| 0.600 8.7
0.600 x 1.000 x 0.250 m3| 0.150 2.1
® B I t = bem 0.600 x 1.000 m2| 0.600 8.7
0.600 x 1.000 x 0.050 m3| 0.030 0.4
EMOST MR INE m3| 0.030 0.4
BIonT BRIEEI TH=E m3| 0.678 9.8
AKERRT 0.600 x 1.000 x 0.050 x 0.023 m3| 0.001 0.03
AKOLS T AKERIHE m3| 0.001 0.03
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2-5. BEFHET
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2-5-1.BEFHREL ™M - Fi

_80_



BEF FFD HPPE ¢ 100
PRT B £ =
£ {1 ARt & E 0E TR
EMEIKESE] Bo /K & BRHR
BIEF @100 'FCD 7.5K # 1
EAERKEE? Bk B R AR
BIEF @100 'FCD 7.5K H 1
ZAEEKEES Bk B R #R
BIEF 100 'FCD 7.5K # 1
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BEH (375) HPPE 100
& W okt ik fiL e 7
ETERKEE Eo/K B IR R
BERFHREL ¢$100 ' FCD#&! H
STEEIKEE? Eo/K B IR ER
BEFHREL ¢$100 ' FCD#&! H
ETEKEES Eo/K B R IR
BEFEZREL ¢$100 ' FCD#&! - o
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2-6. ERREEF

17
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2-6-1. EXBEAZEEET M -7
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= « f—] LN
EMHER (EXKBREAFEEEI)
& fE B & A # 18 pRTE A
£ 5 oA - R B #t 2 & i BNERSHEERRE &
FCD#!
BE S $100 "N AnybFF2{EfE 7.5K | E 1 1
AhL—F— FCD#!
7.5 | 100 7.5K 1@ 1 1
Y7 ro—)LitYIF FCD#
7.5 | @100 /N> K)L{F 7. 5K = 3 3
LavHE RiE~TiE
D2600 x W1400 x H1700 & 1 1
#®= FCD&® HHav, Yoyt
¢ 600 #H 1 1
R2U0VEE SSP&! 7.5K +{mya-+
7.5 | ¢ 100 x 700L {& 2 2
=70V TFE SSP&! 7.5K +{mya-+
7.5 | 100 x ¢ 100 x 400L x 170L 1& 2 2
m7o5 U HE SSP&! 7.5K f+{mya-+
7.5 | 100 x90° x280L x 158L 1& 2 2
mMI7o5V008EE SSP&! 7.5K f+4mya-+
7.5K | 100 x 480L & 1 1
mMI7oV0U8EE SSP&! 7.5K f+4mya-+
7.5 | ¢ 100 x 1420L & 1 1
HiEE (M7 >2) SSPAL 7.5K +4nya-}
7.5 | $100x210L & 2 2
TS UCEAR SUS304
7.5 | 100 7.5K #H 15 15
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FHBEFHER (ERKBEAEEET)

& & R O = B
& @R - A | ’”ZE &% @B o=
Loavihy g REMT
%
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2-6-2. EXRBERFEEELI T
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TIT#REXR (EXBEFR

EFEET)

3

il

£ g m oA - iR =R v & i

TAT7 VM EHEE AR

ShIE AR U 15cmAL T, =, - m | 20.70 20
S J_OcmfffzJOcml«,l'F

SRR EEESIT | IUES0. 28m3[EFE0. 2m]| m? | 10.3 10
(Ast) BH 0.2

ETNET AtE |=10. Okm m° 0.5 0.5

BN & (Ask) m® 0.5 0.5

BH 0.20 4O-3

PRI AT HEn At R m> | 24.8 24

R - #EHT BRAR m° 8.2 8

BERAEET RC-40 m° 2.2 2

pRAET RC-40 t=25cm m?| 10.0 10

ST AsfR1E18)  |t=5cm m?| 10.0 10
(%) BH 0.2

ETNET AtE |=10. Okm m> | 24.8 24

ErunE (7)) m> | 24.8 24

B KERE T m° | 0.01 0.01

Ekasn T m° | 0.01 0.01

EMBAEL t=150 m? 5.7 5

BL

OV ) — REIBRT m? 0.5 0.5

HL

aVs)— I 18-8-25BB m° 0.2 0.2

BEMEREAT  h=2.00~2. 50m m | 10.30 10
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- EIERE L= 412 nm
Tt I % EHEE
A =
5EH |
N ols I N
: — H S ip—
— " E W Ve
20 120 | 200 | ‘500 200 f1po 320 . §)
;E W . W 8 b
. . ET 2
2 O =t -1 = Ll ferr] oo Wi
el (472 x 2520) x 2 = 20.765 m 20.7
fEMRIEA] 412 x 2.520 = 10.382 m 10.3
mOERR - NI 10.382 x 0.05 0.519 m 0.5
HwiEHEIT 417 x 2.520 x 2.395 = 24 866 m 24.8
g9 aMEBERT BEW 4120 x 2.520 x 1.500 = 15.574 O
3.120 x 1.520 x 1.30 = 6.160 @ (TH)
0.857 + 0.286 = 1.143 @ k)
V= O-@-Q
= 15.574 — 6.165 — 1.143 = 8.266 m 8.2
BERAERT RC-40 4120 x 2.520 x 0.39 = 4.101 D
3.120 x 1.520 x 0.40 = 1.873 @ GFk)
V=>D-@-3= 4.101 — 1.873 = 2.228 2.2
REET RC-40 4.120 x 2.520 = 10. 382 10
t=25cm
fH&E T (Asiz1EIH) t=bcm 4.120 x 2.520 = 10. 382 m 10
BRI O5T m 24.8
AJKER - AIET 10.382 x 0.05 x 0.023 = 0.012 m 0.01
BAERET t=150 3.320 x 1.720 = 5.710 m 5.7
RC40~0 3.320 x 1.720 x 0.15 = 0.857 m 0.8
HyLa o) — L8R (3320 x 1.720 ) x 2 x 0.050 = 0.571 m 0.5
HyLarvol)—FL 18-8-25BB 3.320 x 1.720 x 0.05 = 0.286 m 0.2
BEMRXIREAT h=2. 00
~2.50 4120 x 2.520 = 10.382 m 10. 3
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2-1. RERMKT
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2-1-1 REXMEL [REFEE]
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RERMKT (RBFEF] F5HR

TI7E iE Al 0t | =X = = = &
REFNET | K BEFESB A
BRFET ¢ 150 A RBEFEE HEHEE 838
ERERET ¢ 150 A RBEFEE BEHESE2 B8
ERKRET ¢ 150 A RBEFEE HEHEES B8
FE, BEME BZA~NKRA
KERBAFEEET A 1B x1Bx A B8
FE, BEME BA~NKA
BREENAEELET A 1#Efrx1Bx A BE
HERZEEET A 1B x5 x A B8
=t

_92_




RETEN LY 0.90 m
1. &8 - O S HEVYRIE
EE HPPE LTI As-15cmLL T 240 m /H
EE (2 &EE) - A 10cmA T 810 m2/H
(MRS 150 mm YA (K1) K- 1LFE0. 28m3 [FFE0. 20m3] 43 m3/H
mES (2 &EE) — mm ERL @) JKiE-1LFEO. 28m3 (% >/ BEE) 33 m3/8
BEHME 0.18 m BERLER) LAR/NRE 41 m2/8
BEoE (2 &£ERE) 0m REET IKE- A H-t=50 250 m2/H
EmLH 0.10 A/m EEBBT H) JKE-1.8mkE 222 m2/H
EMESH  (2FKEE) 0.00 A/m EEBRET (BR) 0 m2/H
2.+ T - SHEE AEIRI (As)  LAR-HH-FE-1. dmel E 2300 m2/8
fEHEITE 0.60 m A BT (Co) 0 m3/H
RELE 1.18 m 4 £T - HETH=E (10mHY)
WEEE 0.10 m S RIERI T 6.00 m2
BRLE (Fb) 0.58 m FRIET 7.08 m3
EHRLE (FA) 0.30 m BERT 0.60 m3
REEEE 0.05 m EBERLI (7) 3.23 m3
LEREE  (RC-40) 0.25 m EBERLI (BR|) 1.80 m3
IERRE (BERELE) m REEET 6.00 m2
LERRARE  CHFRRR) m SHEMEHIT  (CREIRED) 0.00 m2
LERERE (BERELE) m ERARIEHI T (REREF - FEARR) m3
KERE (As&E%E) m LrERET (RiFARR) 0.00 m2
KERE (Cof%®) m LERET (BELRENE) 0.00 m2
AR m BET (AsEEL) 0.00 m2
A& (B%0 & BET (Co#%) m3
HEARUIMRSR (1EE. REIRE) 2 K 5. RBFEE ABUERL A
AU (2@E. AEIRE) X 6. ERER 19.98 m
OI0mBY IHEAHDOEH
SEARYIMT T (1EB. REIEE) 10.00m x 24K + 240.00m= 0.08 B
SHEERRIEAIT 6.00m2 + 810.00m2/H= 0.01 A
RiET 7.08m3 + 43.00m3/B= 0.16 A
=L 10.00m <+ (4A/B <+ (0.10 4+ 0.00) A/m) = 0.25 B
MERT 0.60m3 =+ 33.00m3/H= 0.02 A
#RLT (B9 3.23m3 + 33.00m3/A= 0.10 B
ERLI (BR) 1.80m3 + 41.00m3/B= 0.04 B
REEET 6.00m2 + 250.00m2/H= 0.02 B
SEIRYIM T (2EE. AEIRE) 0 0.00 B
HEMRIEAIT (KRR 0.00m2 =+ 810.00m2/H= 0.00 B
BBESEEIT  (REIRE - REARR) 0 0H
TERBT  (HHERA) 0.00m2 =+ 41.00m2/H x 2@= 0.01 B
IERRT (BERELE) 0 0.00 B
AERT (AsEh%E) 0 0.00 B
MET (Cofi%t) 0 B
& &t 0.69 B
B#E 10m + 0.69H= 14.49 m/H
HEIBEHK 20.0m=14.49m/E 1.38 2 B
TEFHEAEK A
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RETEN LY 1.20 m
1. &8 - O S HEVYRIE
EE HPPE LTI As-15cmLL T 240 m /H
EE (2 &EE) - A 10cmA T 810 m2/H
(MRS 150 mm YA (K1) K- 1LFE0. 28m3 [FFE0. 20m3] 43 m3/H
mES (2 &EE) — mm ERL @) JKiE-1LFEO. 28m3 (% >/ BEE) 33 m3/8
BEHME 0.18 m BERLER) LAR/NRE 41 m2/8
BEoE (2 &£ERE) 0m REET IKE- A H-t=50 250 m2/H
EmLH 0.10 A/m EEBBT H) JKE-1.8mkE 222 m2/H
EMESH  (2FKEE) 0.00 A/m EEBRET (BR) 0 m2/H
2.+ T - SHEE AEIRI (As)  LAR-HH-FE-1. dmel E 2300 m2/8
fEHEITE 0.60 m A BT (Co) 0 m3/H
RELE 1.48 m 4 £T - HETH=E (10mHY)
WEEE 0.10 m S RIERI T 6.00 m2
BRLE (Fb) 0.58 m FRIET 8.88 m3
EHRLE (FA) 0.60 m BERT 0.60 m3
REEEE 0.05 m EBERLI (7) 3.23 m3
LEREE  (RC-40) 0.25 m EBERLI (BR|) 3.60 m2
IERRE (BERELE) m REEET 6.00 m2
LERRARE  CHFRRR) m SHEMEHIT  (CREIRED) 0.00 m2
LERERE (BERELE) m ERARIEHI T (REREF - FEARR) m3
KERE (As&E%E) m LrERET (RiFARR) 0.00 m2
KERE (Cof%®) m LERET (BELRENE) 0.00 m2
AR m BET (AsEEL) 0.00 m2
A& (B%0 & BET (Co#%) m3
HEARUIMRSR (1EE. REIRE) 2 K 5. RBFEE ABUERL A
AU (2@E. AEIRE) X 6. ERER 14.52 m
OI0mBY IHEAHDOEH
SEARYIMT T (1EB. REIEE) 10.00m x 24K + 240.00m= 0.08 B
SHEERRIEAIT 6.00m2 + 810.00m2/H= 0.01 A
RiET 8.88m3 + 43.00m3/A= 0.21 A
=L 10.00m <+ (4A/B <+ (0.10 4+ 0.00) A/m) = 0.25 B
MERT 0.60m3 =+ 33.00m3/H= 0.02 A
#RLT (B9 3.23m3 + 33.00m3/A= 0.10 B
ERLI (BR) 3.60m3 + 41.00m3/B= 0.09 B
REEET 6.00m2 + 250.00m2/H= 0.02 B
SEIRYIM T (2EE. AEIRE) 0 0.00 B
HEMRIEAIT (KRR 0.00m2 =+ 810.00m2/H= 0.00 B
BBESEEIT  (REIRE - REARR) 0 0H
TERBT  (HHERA) 0.00m2 =+ 41.00m2/H x 2@= 0.01 B
IERRT (BERELE) 0 0.00 B
AERT (AsEh%E) 0 0.00 B
MET (Cofi%t) 0 B
& &t 0.79 B
B#E 10m + 0.798= 12.66 m/H
HEIBEHK 14.5m=+12.66m/EF 1.15 2 B
TEFHEAEK A
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RETEN LY 2.70 m
1. &8 - O S HEVYRIE
EE HPPE LTI As-15cmLL T 240 m /H
EE (2 &EE) - A 10cmA T 810 m2/H
(MRS 150 mm YA (K1) K- 1LFE0. 28m3 [FFE0. 20m3] 43 m3/H
mES (2 &EE) — mm ERL @) JKiE-1LFEO. 28m3 (% >/ BEE) 33 m3/8
BEHME 0.18 m BERLER) LAR/NRE 41 m2/8
BEoE (2 &£ERE) 0m REET IKE- A H-t=50 250 m2/H
EmLH 0.10 A/m EEBBT H) JKE-1.8mkE 222 m2/H
EMESH  (2FKEE) 0.00 A/m EEBRET (BR) 0 m2/H
2.+ T - SHEE AEIRI (As)  LAR-HH-FE-1. dmel E 2300 m2/8
fEHEITE 0.60 m A BT (Co) 0 m3/H
RELE 2.98 m 4 £T - HETH=E (10mHY)
WEEE 0.10 m S RIERI T 6.00 m2
BRLE (Fb) 0.58 m FRIET 17.88 m3
EHRLE (FA) 210 m BERT 0.60 m3
REEEE 0.05 m EBERLI (7) 3.23 m3
LEREE  (RC-40) 0.25 m EBERLI (BR|) 12.60 m2
IERRE (BERELE) m REEET 6.00 m2
LERRARE  CHFRRR) m SHEMEHIT  (CREIRED) 0.00 m2
LERERE (BERELE) m ERARIEHI T (REREF - FEARR) m3
KERE (As&E%E) m LrERET (RiFARR) 0.00 m2
KERE (Cof%®) m LERET (BELRENE) 0.00 m2
AR m BET (AsEEL) 0.00 m2
A& (B%0 & BET (Co#%) m3
HEARUIMRSR (1EE. REIRE) 2 K 5. RBFEE ABUERL A
AU (2@E. AEIRE) X 6. ERER 1.00 m
OI0mBY IHEAHDOEH
SEARYIMT T (1EB. REIEE) 10.00m x 24K + 240.00m= 0.08 B
SHEERRIEAIT 6.00m2 + 810.00m2/H= 0.01 A
RiET 17.88m3 =+ 43.00m3/H= 0.42 A
=L 10.00m <+ (4A/B <+ (0.10 4+ 0.00) A/m) = 0.25 B
MERT 0.60m3 =+ 33.00m3/H= 0.02 A
#RLT (B9 3.23m3 + 33.00m3/A= 0.10 B
ERLI (BR) 12.60m3 =+ 41.00m3/H= 0.31 B
REEET 6.00m2 + 250.00m2/H= 0.02 B
SEIRYIM T (2EE. AEIRE) 0 0.00 B
HEMRIEAIT (KRR 0.00m2 =+ 810.00m2/H= 0.00 B
BBESEEIT  (REIRE - REARR) 0 0H
TERBT  (HHERA) 0.00m2 =+ 41.00m2/H x 2@= 0.01 B
IERRT (BERELE) 0 0.00 B
AERT (AsEh%E) 0 0.00 B
MET (Cofi%t) 0 B
& &t 1.22 8
B#E 10m + 1.228= 8.20 m/H
HEIBEHK 1.0m=+8.20m/H= 0.12 1H
TEFHEAEK A
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